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Each question has four answers. Choose the correct answer from
among them and darken the appropriate circle completely in the
OMR Sheet with Blue / Black ball point pen.
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LCHILD DEVELOPMENT & PEDAGOGY J

1.  60R¢ 216900 Q84 ggg}’? 1.  Which is not a characteristic of
Srp emotion ?
@} 2ORRNY

(A) Unchangeable
(B) 29908ae
(B) Experience based

C) 9RAREIR
( X (C) Changeable

(D) Qnde (D)% Tempoy

2. Ggea q1ede gaIeng@en alnIey 2. Normal distribution curve of different

Q004 98 SUAIRE | 9Ll 689 UG- mentaltraits of individuals is given be-

APSR AIRER gEI9RIE 99108 7 low. Whattype of individuals' mental

traits does it indicate ?
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(A) QnQFana

(A) Individuals of same intell
(B) Qe 9&anmq L
(B) Individuals of low intelli

; | ence
(€) s gaanaX i :
(C) Individuals of high intelligence

@ adie gRama - D)
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Individuals of different intelligence
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Which is contradictory to child-

centred instruction ?

(A) Organisation of alternative

classes
(B) Class-room demonstration

(C) Selection of alternative text-

books

(D) Self-learning
Study the given statements and
choose the correct answer-

() The ability to adjust with the

environment is called intelligence.

() Intelligence indicates a particular
ability.

(A) (I) correct, (I1) wrong

(B) (l)and (Il) correct

(C) (l)wrong, (ll) correct

(D) (l)and (Il)wrong

According to Guilford's intelligence

model which is not included in

the mental processes ?
(A) Evaluation
(B) Synthesis
(C) Divergent thinking

(D) Convergent thinking

(Continued)
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6. <g5a gga 6ad Q6T QaIa ? 6. Which is nota characteristic of

jective type questions ?
(A) el

(A) Validity
@ NYRRA! o~ (B) Subjectivity

(C) <SqiQyel (C) Raliability
(D) <gRsel (D) Objectivity

7. 699 984 0f QA QINIFR aQ1ae 7. The connection between the natural

B 9QF QU AUca Ane QIde stimulus and un-conditioned stimulus
i | d i hich learnin

61921 ? is established in whi g

/ AR theory ?

QlIea] goea v~ iy

vl (A) Classical conditioning

(B) gag-gaIQ

(B) Trialand error

o
el Sheiay (C) Instrumental conditioning

(D) @] (D) Insight

8. Qesq daEiaesa 31 Ga6s 6o 8. Whattype of teacheris appointed to

geIa 8095 Fg8 FrIQIQal ? teach the disabled learners ?
@ QAR 43R (A) Resource teacher

(B) <@ g \( (B) Efficient teacher

(C) zom daQ (C) Experienced teacher

(D) <o8g dae (D) Subjectteacher

9. 6ee0 6oRc 20RO 850 §iden gide 2 9.  Which s placed at the top of Dell's

ey cone of experience ?
(B) dade (A)  Motion picture
@ eAfie asse (B)  Still picture

(C) Verbals
(D) Q&YQ6sQ ymbol

(D) Visual symbol
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«earning is the modification of
behaviour through training and
expenence’ — whowas its propounder ?
(A)
(B)
(C)
(D) Spencer

Skinner
Gates

Hilgard

Study the following statements and

choose the correct answer .

Both normal and disabled
children study In special

schools.

Disabled children of a particular
category study in special schools.
(A)
(B)
(c) O and (1l) correct
(Q) (1) and (Il) wrong

(1) correct, (I1) wrong

(1) wrong, (11) correct

Which is the concrete operational
stage according to Piaget ?

(A)
(B) Childhood

Infancy

(C) Late childhood
(D) Adolescence

Which is not a characteristic of
creativity ?

(A)
(B)
(C)

Independent thinking
Originality

Flexibility
Dependency

(C ontinued)
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14. Which is not related to the child-
centred education ?
(A) Teacheracts asa facilitator of

learning
Teacher teaches through ques-
tion-answer method

The child is the centre of learn-

iIng
Learning Is based on child's
experience

15. Which stimulus creates natura
response ?
(A) Conditioned
(B)
(C)

(D) Natural

Un-conditioned

Instrumental

16.  Which method of evaluation is effec-
tive for assessment of both curricu-
lar and Co-curricular achievements ?

(A) Formative

Comprehensive
Aptitude
Diagnostic

17, Which is notan educational (esting

tool ?

(A)  Progress card

(B) Questionnaire
(C) Check list

(D) Rating scale

(€ Ortinued)
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18.
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What type of motivation 1S status of
the individual 7

(A) Intrinsic

Extrinsic
Natural

Conditioned

Blue-print is used In preparing the
question-papers, because

(A) the questions become easy
-+ and simple

(B) differenttypes of questions find
their places

(C) subjectivity In evaluation Is
reduced

(D) the evaluation becomes easy

and error free

Study the following statements and

choose the correct answer

() All intelligent individuals .are
creative

() All creative individuals have
divergent thinking ability

(A)

(1) correct, (Il) wrong

(B) (I)wrong, (I!) correct
(C)

)

(1) and (l1) correct

(1) and (Il) wrong

(Ceat wed)
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Which is mainly required for model

making ?
(A) Imitation-observation
(B) Motivation-practisation
(C) Imitation-re-inforcement

(D) Hand-eye co-ordination

Which is a conditioned stimulus in
Pavlov's experiment ?

(A) Fleshonly
(B) Flesh + bell
(C)

(D)

Salivation

Only bell

Whois not associated with Gestalt's
Theory ?

(A)
(B)
(C)
(D)

Skinner
Koffka
Lewin

Kohler

Which is the objective of inclusive

. education ?

(A) Emphasis on

teachers'’ training

Empha:.sis On education of g
Categories of learners:

Emphasis on disabled leafners

resource

(B)

(C)

(D) Emphasis on  specia|

Adiease)
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(n which education system both
regular and resources teachers im-
part teaching ?

(A) Special education

Inclusive education

(B)

(C) Integrated education

(D) Non-formal education

What is the formula for determining

thel.Q.?

MA

—x100
A CA*

Eﬂxw{)
MA

MA

i PO
1 St

EA xMA

©) Too

If the mental age and chronological
age of an individual is the same, then

to what category does he belong ?
(A)
(B)

High intelligence
Superior intelligence
(C) Average intelligence

(D) Exceptional intelligence

( vontinued)
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28.

29.

30.

Which one does not come under the

scope of educational psychology ?

(A) To study what the individual
behaviour ought to be

(B) Tostudythe natural behaviour
of the individual

(C) To study the conscious
behaviour of the individual

(D) To study the sub-conscious

behaviour of the individual

How does the child's developmental

process proceed ?

(A) From simple to complex
(B) From complexto simple
(C) From specific to general

(D) From general to specific
Study the following statements and
choose the correct answer :

() Development process is uni-

form at the early childhood
stage.

() Development process is slow
atthe late childhoog stage.

(A) () correct, (I1) wrong

(B) ()and (I correct

C) wrong, (1) correct

(D) (I)and (1 wrong

(Continued)
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68. |lovemy watch.

(A) old golden beautiful

r@h beautiful old golden

3

old beautiful golden

(D) golden beautiful old

69. Which of the following is correctly

punctuated ?
@ How fast time flies !

(B) How fasttime flies ? /G>
.Qp) how fast Time flies.

(D) how Fasttime flies,

70. Theblind escorts fo cross

the road.
(A) isneeding

(B) needs

/@ need

(D) has needed

Read the passage carefully and
answer the following que_stiona from
71 to 75 choosing the ,correct
alternatives. )
Informerdays, a teﬁdwerwas expected
to be a man of exceptional knowledge or

wisdom. Teaching was not an organised

' f‘.- L JEa cm_glg

4 e
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profession, and no control was exercised
over what they taught. Itis true that they were
often punished afterwards for their
subversive doctrines. Socrates w;s put to
death and Plato is said to have been thrown
into prison, but such incidents didn’t

interfere with the spread of their doctrines

In the middle ages, teaching
became exclusive prerogative of the
Church, with the result that there »:vas little
progress, either intellectual or social. With
the Renaissance, a respect for leaming
brought back a measure of freedom to the

teachers.

71. In ancient times teaching was

M)
@ a disorganised profession
(B) an organised profession
A(C) a dependent profession

(D) alucrative profession

72. Butthe teachers were often punished

afterwards for their

(A) submissive doctrines
@ subversive doctrines

(C). subjective doctrines
‘Xﬁ) superficial doctrines
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60. o104 AAQAR FAES 60 QA 0] ?

(A) 89S 2Ied aoe-agiic AQ

EOQ-@G‘IS@HQQ-WG}Q Q0@

@ ANlehe ag J0R-9109 gog-

@ IIPARR-TIRE 2ied qoe

(C) sRIgaIRe-a100 Q0R-deee

2AIQd Q0q- -dQlghe %19 a0q

/(%)/ 09 gog- @mwmm—am;e}m

4@ A0R-89ee zigg Q09

(Continued)
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(L - ENGLISHJ

61. Nobody touch it without
my permission.

(A) might
-'@) shall
VQ;) may

(D) could

(0

62. My old scooterconsumes

petrol.
@‘) a lot of
(B) few

(C) afew
(P many

63. The Cardiologist, Prof. Mohapatra
has advisedmefor —_____X-ay

of my chest.

(A) a

e D
(C) the

(D) some

64. People makemerry —the

New Year.

@ =«
o

JF - 1C/128 (36)

(C) in
(D) by

65. The Governorand Chancellor of the

been invited to

)

University

the function.

y’ has left

(B) have
(C) is
(D) are

66. .' reached the station after the train

(A) has left

@ had left

(C) had been left

(D) would have left
67. We arrived

&?} safely home yesterday by
evening

® @ home safely by evening yester-

day

(C) yesterday home safely by

evening

(D) by evening yesterday safely
home

(Continued)
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73. Platowas

(A) rewarded
(B) puttodeath

@ imprisoned
‘_*E)) tortured

74 Inthe middle ages, teaching became

the exclusive right of the
(A) State
(B) Govermnment

B

(D) King

Church @
75. With the Renaissance, the respect for

learning brought back

@ a measure of freedom
(B) alack of freedom
(C) interference of the state

(D) interference of the church

Read the passage carefully and
answer the questions from 76 to 80
choosing the correct alternatives given

below.

The word 'boycott’ has come from the
name of Irish landlord, Captain Charles
C. Boycott. Captain Boycott's tenants
decided to teach him a lesson when he

refused to take lower rents from them.

They decided not to speak to him at

all. No one would work for him, They would '

- JF-1C/128

(38)

OTET - P-1/16

not allow the postman to deliver his letters
to him. Captain Boycott now found himself
in a difficult situation. When the com in the
field was ready for harvesting Captain
Boycott had to get workers from another
part of the country to do the work. The
Government had to send 900 soldiers 10
protect these workers from the tenants
So, we have the word, ‘boycott’. To

boycott someone is to treat him as poor

Captain Boycott was treated.

76. The passage talks about

(A) -how Captain Boycott was in
N

trouble

how the word, boycott came

into use

how the tenants revolted

(D) howthe Government saved the

captain

77. The tenants got angry with Captain

Boycott because

he took higher rents

(B) he took lower rents
(C) he made them work hard

Jp) he was very cruel to them

(Continued)



78. The tenants

(A) speaktohim
work for him

(C) allowthe postman to deliver his

letters to him

@ all of the above

79. The Government sent soldiers

because the soldiers ’

(A) foughtagainstthe tenants

(B) watched his corn field
\9- harvested the corn

@ protected the workers from the

tenants

80, - Theword. ‘poycott means ——————
(A) totreat someone properly
k/@ to cooperate with others
@ to treat poorly by cutting off all
‘ relations

(D) tofight againstothers

(39)

81.

82.

83.

OTET - P-l/16

A teacher cited some grammar

examples in the class and after dis-
cussion the students discovergd the
rules. Here the learning proceeds

from:

‘*A\ simple to complex
(B) complexto simple
(C) general to specific

@ specific to general

Functional grammar puts emphasis

on

(A) structures
contexts
(C) rules

(D) word classes

English is the link language in India

because :

(A) English is taughtin schools and
colleges

(B) Most books, journals, maga-
zines are written in English

(C) English helps the youngto get

jobs in IT sector

@ India has multi-lingual and multi-

cultural settings

/

(Continued)




84. Learning of using cohesive devices

is a subskill of :
V‘Aj Listening
(B) Speaking
(C)

Writing

Hop a little, jump allittle

Reading

85.
Touch your eyes

Run a little, skip a little

Touch your thighs

The rhyme in the box could be well
taught by :
(A) Storytelling ‘

@) Total Physical Response

.}((C) Dialogue

(D) Dictation

OTET - P-l/16

representation

87. Writing IS ———

of speech

(B)

graphical
phonetical

(C) morphological

X

Which of the following are recepuve

theoretical

88.

skills ?
(A)
(B)
t(f) Speaking and writing

Listening and reading

Writing and reading

Speaking and listening

89.

86. |Complete the sentence with the

right word :

The man who cannot see is called

Reading non-detailed texts facili-
tates _______reading

@ extensive

(B) intensive

L\C’,’) intuitive

(D) indepth

The question in the box is a/an

type of test.

/@ Recall

(B) Recognition
(C) Identification

' JQ/) Analogy

JF-1C/128

90. The phonic transcription of the word

‘does" is

(A) |das|

® (B) |das|
@ IdAZl

'}9) |diz|

(40)
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Qe ]
MATH EMATICSJ

91. 9QF AIgER Y PRQ 6AIS ARG 16 91. The total quantity of water contained

Q66 | 6915 QIgq 3 fca QId 2Ry in two vessels was 16 litres. When 3

litres of water was poured from one

017 @INEWQl U6, UNd AIgq o vessel to the other vessel, both the

JQnI§ QAAIN ERIAAIN | AN 2ULGIER vessels were found containing equal
quantities of water. Then what was the

Qe 9I96a 29I 99 AAAIEa TlEaY : o
difference between the quantities of

6REC MEQ ? water contained in the two vessels
EL A
A) 4 B) 5 initially %
A) 4 B 51y
AL s (D). fiEas o) fa (D) 7

92, €qIEN 2I0099a 634y, 98 8 @89l | 92. The length, breadth and height of a

geligen 12 6Q. 71, 8 62. 7.6 6 6. 7. | cuboid are 12cm, 8cm and 6cm re-

i - ot spectively. If it is cut into smaller
qIg @I6 6 6Q. A, 69aY, 4 6Q.¢1. 99 6

cuboids of length, breadth and height

2 F PARAIFFER :
3. 1, /ae0! SlES 6cm, 4cm and 3cm respectively, then

0660 QAI9RAl | 696Q UGEIAIER what will be the maximum number of

6Q60I5 6816 2NeAR aee ? small cuboids obtained ?
? (A) 12 h-/@ 8 _ (A) 12 \./(B/) 8 )
! ‘ C) 6 D) 4
©) 6 (D) 4 © (©)
:

aq @IAQIR GIF | SPACE FOR ROUGH WORK

i
:

(41) Continued)
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83.

94

- &E)

28 9g6a 2RI QNERYER 96 QI
Qe ANISQ @6 AAIR QAVIER 6QGl-
aaie 286 | 638 5g6a 6AIS 6Q60IC

QEog AT ?

\C)

(B)

30

20
25"

26

O

(D)

2015 del @6ana 31 QIG¢ 9QeIQ
ce6q, 2016 Adel @eana 31 QI
6RAQIQ 629 ?

03.

94.

OTET - P-1/16

What is the total number of squares
that occur in the given figure of a
square in which line segments are

drawn parallel to its sides and at

equal distances ?

(A)
(B)
(C)
(D)

30
20
25
26

If 31st December, 2015 is a Thurs-

day, then what day falls on 31st De-
cember, 2016 ?

(A) 9geIa (A) Thursday
B 4so8 (B) Friday
’@ AR (C) Sat:urd,ay
(D) 6@%Ia (D) Sunday
Qg Q919 9I8 | SPACE FOR ROUGH WORK
o IREACHER (42)
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S

g5 4R 6Q6RE8 ANGQ LAY, Al IAREA

96.

gislialy e«ee ?

0.00028 o

(B) 0.00032

(C) 0.0028

(D) 0.0032

a8 691G 986D QIR 2A6R 1
cals GaIaN, 6069 QYR AT 7
24 | QI 0REAS QHYea A 1
calaQen, age Qs 1 29 |

QGA°SHIT 669 ?

@ -

~l|

W)

WM

95.

96.

OTET - P-1/16

The time interval of one second IS
equal to how much in hour unit

nearly ?
(A) 0.00028
(B)
(€)

(D)

0.00032
0.0028

0.0032

If 1 is added to the denominator ofa
rational number, it becomes § where
as, 1 is added to the numerator of
the rational number, it becomes 1

What is the Rational Number ?

(A)

o
S
win ol ~N|id

10

O 1

aq QIAgIa AR /

(43)

SPACE FOR ROUGH WORK
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103, B6q9 AR 664G 78 A8A 7% 99 ?

‘/W 5x4=-

B) 4x-=20
(C) -x4=20

@ =)

104. 6069168 9af g IR EAITTR
Qg QeI 266 1”7 9181%‘ 6g€16Q IRIQ
Falole GA6e 699 988 YRR
QQIgel @50 ?

(A) Q6484 (B) Q646
@' Zicaied (D) 2Q6AI2E

105. 980 GRIQIRA 699 0866a JRISQ
geIé BIaR 62198 ?

% Q6436 (B) Q6494
@ Jlesaliny

106. ¢gIefie 6ga16a GYIFGR Egam
gaisa 9a8ea 381 G2IR T 9016
960 96 QAA 621214 ?

JAf doeq 639

(B) 9699 A0

(C) 2lcauad

(C) awieaq faa
@ aaaq QIeE

103.

104,

105.

106.

OTET - P-l/16
Which of the followin&
response type question ?
(A) 5x4=-
(B) 4x-=20
(C) -x4=20
(D) -x-=20

“The sum of two even numbers is
even.” What method should be
followed to teach it at the primary
level ?

(A) Analysis (B) Synthesis

(C) Inductive (D) Deductive

In which method of teaching
mathematics, proof starts from the

conclusion ?
(A) Analysis (B) Synthesis
(C) Inductive (D) Deductive

Geometric theorem is taughtthrough
experimental method at the upper

primary stage. How does the learn-
Ing proceed ?

(A)  From simple to complex
(B) Fromcomplexto simple
(C) Fromgeneralto particular

(D) From particular to general

g QNI QIR | SPACE FOR ROUGH WORK

 JF-1C/128

(46)
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. 6916 .
100 QQIYIER 691G FRAQ 40% FAQ 100. In an examination itis required to get

QYER, P66 TN AIQ AU | FEE 40% of the total mark to passfA stu-
QQ1QI81 248 GAQ QYER 9L° QIR AIQ

dent scored 248 and it was 9% less

§0Q@! OIQ 9% @ | 696Q JQIRIER - than the pass percentage. Whatis the
6AIE. PRA 6REQ AR ?

total mark of the examination ?

@ 200 (B) 850 (A) 800 (B) 850

(C) 900 .} (D) 780 (C) 900 (D) 780

101. 90 QIO 2IGAEH aBiE @'a S ? 101. Whatthe child learns atthe beginning
of learning mathematics ?

1 01Q 10 QD48 Q¢ Q1] :
@ 2 gl (A) NammgmenumbersfromHMO

B) 1 015_1100@8 @i@l@@@%@?ﬂ@l (B) Counting serially the objects
X from 1t0 10

(C)i5. 3010 10 98 @AIFAIER ERYS! (C) Writing serially the numbers
from 1to 10

(D) 00@9 adye 2SR 59% /0Q! _ |
(D) lIdentifying the digits from 0 to 9

—

102. 6996 glafie 8aEa @yIA9 4819 102. What is'the objective of teaching
geometry atthe primary stage {

@eQay ?
(A) Observation of geometrical
@ oufice 6aa 9d46a8 figures
2 (B) Observation of geometrical
(B) S4AGQ 928 adyeasa figures and its logical proof
g89ee galé (C) Defining the geometrical
figures
(C) SMIALS Soa @Bl @94 (D) Correct construction of geo-
metrical figures

- X

(D) SUAGS goqdaa O] USK
[ ag Qifalel QIR | SPACE FOR ROUGH WORK

(45 Continued
JF ~1C/128 : i ‘ )
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llowing numbers is

97. A4 696 QT 44 QIaI GRISY 7 g7, Which of the fo
divisible by 44 7
(A) 86834
\ (A) 86834
i o (B) 82918
©) ss328 () 86328
(D) 86208 (D) 86208
e 2y 41IG3 08, - IHhenumbers +,03, 57 and0.33
98. 3,03, =2 < 0.33 QIR ARy . - ITine NUMDETS ‘xy, Fissigs 1 ST IS
QERER EAYER, 648 QMG 660 are written in ascending order, then
e ? what will be the last number ?
(A) 0.33 (A) 033
33 33
121 B) 121
(C) 03 (C) 03
1 1
3 &3
99. @af Q& @.9l.¢. 120 9e° 99. LCM of two numbers is 120 and
6RAIREE 9.91.9 10, 6062 6B 694 their HCF is 10. Which of the
QYIS A°NIQR CAITTR AR AAIR following may be equal to the sum of
6RIRdIeR ? those two numbers ?
(A) 140 (A) 140
(B) 80 (B) 80
©) 80 KX ©) 60
@ 70 (D) 70
Qg @INQIR AR [ SPACE FOR ROUGH WORK
JF-1C/128

L

(44)

(Continued)
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980 a8l 3 SR |
i ::i@au q? LAl 99Q eeagea Seia 107. What quality is developed in the Pupll
: due to learning mathematics ?

*-)@ é}ﬁ’@@ UIRE (A) Disciplined behaviour
(B) QIR @S (B) Arrogant ability
(C) Q°BG UANS (C) Precise expression
{ q Ang (D) Allofthese

|
L =k -~ - - ¥ A - .
108. ‘‘REQ QUININYR RYPR FUIQ EFNC 108. “Which of the following figure is @
210009 77 980 AVARA 69N REQEN rectangle ?” What objective of teach-
aGaIg @Al 98 94 ARy ? ing mathematics does it measure P

B et b .

(iii) (iv) (i) (iv)

@ g9 (A) Cognitive
\,\g) QAR (B) Affective
(C) Q9 (C) Psychomotor
"i (D) @99 BIFIAR 6 {AIAR (D) Both Cognitive and Psychomotor

109. gdie FIGIe FT63 999 Q106QI9R16a 109. Whatis notthere in a lesson plan for
coud @ aid ? teaching mathematics ?

'@/ clfe qidiaed (A) Number of annual working days

B) dsIQiee aoa Ay (B) Specific objectives of teaching
(C) Teaching aids

(C) d88 Uu@as ¢
(D) gRYIae galw] (D) Evaluation Procedure |

oL SRR
ag @nala 8T | SPACE FOR ROUGH WORK

JF-1C/128 (47) .(Continued)



110. 966 dae MIAD JNIQIFER IR
2R 98 oasa aeBeR | 6 d]IQIR
G068 699 O8E YRR Q6 ?

(A

XB) zesqied
©

Q6QIE

ICAIRE

S

(D) Q°cqae

111. 0R 9Q56R QI ANS 6QIE ANERIE |
Se6a gede AIag IR @R 6g58

aBQ1n1 Beo Q6R, 6960 6Q. . 629 7

o “
o

S cm

6 cm

(A) 60
(B) 50

(C) 40

OTET - P-l/16
110. Ateacher, while teaching geometry,
started from what is required and
arrived at what is given. What method

did he follow for his teaching ?

(A) Inductive
(B) Deductive
(C) Analysis
(D) Synthesis

111. Allthe angles contained in the figure
are right angles. If its perimeter is
determined using the measurements

given in the figure, then what will be
the perimeter incm ?

st e
__\_ 6 cm

9cm -

)

Y

(A) 60
(B)250

(C) 40

| (D) 30

Qg @AAIS QI8 | SPACE FOR ROUGH WORK

JF-1C/128

(48)
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112. A B c

L 4

aoha ©Q6R, ERXERIT QF @ 6REQIT

QGO RINSNE FARI AAR ?

@"\ 596G ag! @ V61T oIS

(B) ©I6QIT Qg1 8 FERIT €as!Ica

(C) Q6RIE Qg1 QleQlt 6Q&lIs®
)@ Ql6QIT Qg1 B QIEQIT Qs

113. €010 QAR FLYER QAP A&l 8 | A
QIPgEe 9Q4IaQE Qe 9U8, 6069
agQe 6219l 498 Q@3a6R R

aBq16a AN 6REQ 629 7
@) 180°
360°
(C) 540°

(D) 720°

112.

113.

A B C

What is the number of rays and the

number of line segments that can be

named from the above diagram ?

(A) Three rays and three line

segments
(B) Fourraysandthreeline segments

(C) Threerays and fourline segments

(D) Fourrays and four line segments

The number of sides of a convex poly-
gonis 8. Ifallthe sides of it are pro-
duced in order, what will be the sum
of the measures of all the exterior
angles obtained ?

(A) 180°

(B) 360°

(C) 540°

(D) 720°

A Y talnse il T =

IF-1C/128 il

aq @A 819 [ SPACE FOR ROUGH WORK

e (Continued)
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118. @@ EMSEYER x-UJER, A 9QRER 118. In the given graph, the quantity of

606CIRQ AAAIS N_° y-aaeel, petrol in litre is shown along the x-axis
6Q6GIR IQTER HSeS aglaIeg | and the expenditure for it is shown
oy 5eq 10 ATA 6965 FSWER : :
SRR along the y-axis. What s the price of
Y 6969 ?
10 litres of petrol as seen from the
" graph.
y i
800 (20,800) 4
6001 (15,600) J
400} 800r (20,800)
200} 600 (15,600)
. —TOL L1111 11y 400  #(10,400)
v 510152025 200
< = L e e W B B e ¥
v 510152025
(A) 250 sl
(A) Rs 250
400 65
(B) Rs 400
(C) 750 @<l '
(C) Rs 750

ﬂ/ 800 6 (D) Rs 800

g @IFAIQ FIF | SPACE FOR ROUGH WORK

JF-1C/128
ontinue )
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117. QR QN-6RAER RE6Q BIQ Be1, Qraue!

aéio, ANIFR IBIF 8 FRIRER Qe
QAAE QGIQINR | AF |IQd 6qIE
540 @A QYlId, 696Q AINIFR IR
8 S606Q QYA FRAQ AA] 0IQ
AR G QA QYS! PReQ ANd

6Q66 Q9 ?

@ 4

B8) 118
(C) TBies
(D) 105

OTET - P-/16

117. The pie-chart given below, shows the

marks scored in an examination by a
student in Hindi, English, Mathemat-
ics, Social Science and Science. If
the total mark secured by the student
was 540. then the marks secured by
him in Hindi and Science together is
how much less than the marks se-
cured by him in Social Science and

Mathematics together ?

(A) 48
(B) 118
(C) 75
(D) 105

ag QIAGIS 9If [ SPACE FOR ROUGH WORK

D 0
V9
et

JF-1C/128
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114. ABC 29eIp 8ge6a AD L BC 626,

——

56919 F1IQ 690 @36 0] ?
 NA) 2AB2=3AD
(B) 4AB?=3AD’
© 3A8%=4AD
(D) 3AB?=2AD’
115. 9@ Qagele S1G8aAR 6960I5

aoQreas &g ?

(A) 0

®

(C) 2

R :

116. 6QQE 99 QPTRRP 6L 7

(A) dufQ

OTET - P-1/16

114. In an equilateral triangle ABC,

116:

116.

E—

AD L BC. Then which of the
following statements 1 correct ?

(A) 2AB?=3AD’

(8) 4AB%=3AD’

(C) 3AB%=4AD’

(D) 3AB?=2AD’

How many lines of symmetry are

there in an isosceles trapezium ?

Which one is not a polyhedron ?
(A) Pyramid

(B) Cone

(C) Cube

(D) Prism

Qg RF9IQ 9I9 | SPACE FOR ROUGH WORK

JF - 1C/128

(50)

(Continued) -



7_7—

OTET - P-/16
119. 1,3.7, 15, 31, 130:1,:31 7, 1873143
RUER YR AWIGNR VY Q*¢IG 6Q60 7 What is the sixth number in the se-
?
(A) 53 ries of numbers given above
L@ 63 (h (A) 53
' (B) 63
(C) 35
(C) 55
(D) 65 (D) 65
0. | 1| U R |3 120.L\ + | 1| ::ﬂ

N .- = Out of the seven boxes given above,
QgeQ 99! QAERIR ERI0R I 8YUS g
i i six have some diagram in each of
col0d6a &8 6g QRS 8 AN ER0NT
them and the seventh box is blank

WE 913 | 18 6010060 ARd 69Q Tgf : _
Jliw TE | Gl & 0R6Q RFA 686 ©GF Which of the following is the

qeql aand ? appropriate diagram for the blank
box ?
@ 111 N
g (\ @ 111
B = ® =
' (C):* Tt (C)
(D) ﬁ 0) T
;, A
? aq @IS €IR | SPACE FOR ROUGH WORK
|
i (53) (Continued)
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[ ofees QR j
E

[ ENVIRONMENTAL SCIENC

121, 694 6QIGEAIG HIes UIF gAFAR 121 Which is the disease that ‘mam y

Q6 aaa ? damages our lungs ?
(A) 268 (A) Cholera

Q! @ (B) Tuberculosis
‘/‘E) QAR (C) Jaundice

(D) o] (D) Leprosy

122. 910Q £R0 G6R ? 122. Which one is obtained from milk ?

(A) Sucrose

(A) Q]I

(B) QIRIER (B) Galactose
| (C) Lactose

@ RS

(D) Maltose

J(‘D) CIRESIR

123. gARIQ 699 UAQ A& QILIER ?
seeds formed ?

ene o

123. From which part of the carpel are the

Owule

(B) @aiaa | e

XC) s (C) Style
(D) qsed i

124, 9021 6960 QQR 94 ?

X 9ee

124, Where is urea formed ?

(A) Kidney
B) o (B) Skin
@ 99 (C) Liver
(D) arRgae (D) Pancreas
JF-1C/128

(54)
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126. 69@S NG QA0 @4 ? 125. Which is a modified stem 7
(A) Qe (A) Pea
M R (B) Beans
@ g : l \ ) (C) Potato
(D) <IFQ (D) Beet

126. GYUSIR 6QQ UERER QY ARQRR 2 126. In which region of the earth change

Qg 7 of seasons does not occur ?
v@/ FoQ1a 28R (A) Equatorial Zone

(B) Q910 UER (B) Tropical Zone

(C) eagIvia UER (C) Sub-tropical Zone

(D) € YBI*D AER (D) Mid-latitude Zone

127. 999 9Q Gg 9e° 998 °F 619 427. What should be the angle between

egen Q8 a6 8@ e col6a the direction oftheapphedforceand

e 4 . the direction of the motion caused in
Q@6 6R69C cocm AftlQQ @I
a body by it, so that the magnitude of

0GqlIe Qe 629 ? . .
the work done will be the maximum ?

@ o ; @A) o

() 60° ®) 60°
2y 90° () 90°
D) 120° (D) 120°

M _Whichoneis di
| 128, 696G 2R Gemigoiq @ 7 128. Whichone i different from the other
three 7

(A) ©6aI136Q
(A) Troposphere

= (B)5/erigle (B) Stratosphere
(O 219R30Q (C) lonosphere
@,@5 6a166139Q (D) Photosphere
F-1c/128 o (55) (Continued)
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136. What is the main objective of

136. Qla1a Q0QIQ dBIQIRa F& QEWEl

Q'€ ? teaching local history ?

_,@’ dmighig 88e Jo2de QPR
a8ge QAU

(A) To acquaint the learner with

different historical places

(B) QIaiQ o0 FIngee AR a6eo (B) To acquaint with different
(o Tallalal places of the state
(C) 6248Q &de Qip A2 9909 (C) To acquaint with different

(=Ta{[ala] places of the country
(0) Gmich elaegasl 918 AN86R (D) Toacquaintwith the suroundings

falAla o W alal[ala] ofthe learner

137. Which is not the main objettive of

137. 6906 gI8fie 206 9664 UUARA : : i
environmental studies at the pnmary

el ARy g6L ?

level ?
(A) ©8ERaa AAIRINGET 596 S (A) To identify and understand
3 9&<l different elements of the
environment

(B) 086960 QAIRINGERR QHRRE
(B) To classify different elements

of the environment

[~Tate]

(CY abices ade i@ 2R ‘
(C) To adapt with the environment

@ AN 698 ARLID QaAIGERQ | . ,
(D) To analyse various environ-

Q646 @A ment related concepts

138. QIGPER 7679 659 FEETG! 6S165IRS 138 Which  of the following

oslla gife Boae adlagica Igie characteristics of a map does help

£ In depicting the spatial distribution

g | of geographical information ?

Mﬂ _ (A) Direction

i@
(B) Scale \

(C) z9ia (C) Size |

y. re |

@ Q6L | (D) Symbol : i
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132. Which area is different from the other
three on the basis of amount of

annual rainfall ?
(A) The Ganga Delta
(B) The Konkan Coast
(C) The Punjab Plains
(D) The Shillong Plateau
133. Which are the two districts in Odtsha
having large coal mines ?
(A) Anguland Jharsuguda
(B) Sambalpurand Dhenkanal
(C) Jharsuguda and Dhenkanal
(D) Sambalpurand Jharsuguda
134. Which type of crop does increase the
fertility of the soil by fixing nitrogen ?

(A) Fibre crops
(B) Oil seeds

(C) Millets

(D) Pulses

135. Where in Odisha is an aluminium

factory located ?
(A) Bileipada
(B) Hirakud
(C) Rourkela

(D) Sunabeda

(Continued)
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element contains

129. The atom of an
the same number of protons and

neutrons and it is Xx. The mass

number and the atomic number of

that element will be respectively :
(A) xandXx
(B)

(C)

2x and X
x and 2X

(D) 2xand 2x

130. Which is not a correct statement
about Vitamin-D ?
(A) Synthesized from cholesterolin
Sunlight.
(B)

It is obtained from all plant

foods.
(C)
(D)

Itis not soluble in water.

It's deficiency causes Osteo-

malacia.

131. By which two rivers is the Punjab and
Haryana plains formed ?

(A) The Ravi-The Beas

(B) The Beas—THe Sutlej

(C) The Jhelum-The Sutlej

(D) The Chenab-The Sutlej

{86) (Continued)
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139. Which of the following methods IS
the best to teach land forms in the

class-room at primary level 7

(A) Discussion

(B) Model display

(C) Narration

(D) Field Trip

140. Which of the following statements

about the “discussion and narration”

method is not appropriate ?

(A) It helps in enhancing the
thought process of the pupll

(B) It helps in increasing the self-

confidence of the pupil
(C) It increases the decision
making capacity of the pupil

(D) Itis most suitable for the lower

primary class students

141. Where did Gandhiji experiment with

Satyagrah in India first ?

(A) Ahmedabad

(B) Chauri Chaura
(C) Champaran

(D) Bardoli

(Continued)
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@
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142. By whose effort was the Odisha
Provincial Congress Committee

formed ?

(A) Gopabandhu Das

Gopabandhu Choudhury

Madhusudan Das

Harekrushna Mahatab

143, Who does elect the Chairman of the
Municipality ?
(A) Educated citizens of the town
(B)
(C)

(D)

Tax-payers of the town
Elected ward members

Members of the Legislative

Assembly

144. In which State is there a Legislative
Council ?

(A)
(B)

(C)

Odisha
Bihar

Assam

(D) Rajsthan

145. Who does appoint the Chief Justice

of the High Court 2
(A)

(B)

President

Chief Justice of the Supreme

Court \
(C)

(D)

Governor

Prime-Minister

(Continuedi o
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146. From the educational point of view

which method is most effective in the

teaching-learning of water pollution

in primary classes ?

(A) The teacher discussed the
book related contents in detail
in the class.

(B) The teacher asked pupils to
prepare charts on different
types of water pollution

(C) The teacher invited an environ-
mentalist to teach the pupils
about water pollution

(D) The teacher divided the pupils
into small groups and as-
signed each group a project
relating to water pollution

Four instructional objectives are
given below :

() Knowledge based
() Understanding based
() Application based
(IV) Motor skill based

A pupil is able to draw a neat and la-
belled diagram of lunar eclipse, but
fails to explain the phenomenon.
From this situation which instructional
objectives out of the above could be
considered to have been achieved ?

(A) (h)and(IV)
B) (i), (1) and (V)
(€) (), (Ihyand (IV)
(D) ()yand (IIl)

(Continued)




148. 60Q0 OAERE AMTE AERTE ARGR
6QI8gS ?
(A) dRAeg 4948 Faee IQSe
AR
(B) 9948 UAFYE QA RIF 2ILQE

L;@ QY9 B ANA AN

(D) 2RI §34

149. 6REQGe dRIQIRQ 6R9% Q4

QAeRd ?
/@\ @/eawég, ARaIS, Q@9Iae!,
/
e

(B) €a&6, seneeR, ANIQAQ,

QIgeaalel
(C) echReg, 6066, goga, caweg

(D) 6esIeg, 9I6, *RIQGI, 65q-
Yal=lala]

150. 6@6iS 0696 BUaRa AGY 96g ?
@ IG6Q4R SIS ZT-SYeRIq
(B) 0869¢ §6 A6900!
(C) afeed A2 Wagziael

5)&» AGed YTa6a QIda|

 JF-1C/128

OTET - P-1/16
(SET-C ]

148. Which is a drawback of the obser-

149,

150.

vation method relating to environ-

ment ?

(A) To attract children to learning

(B) Learning by direct experience
(C) Expensive and time consuming

(D) Pleasurable learning

What are the visual aids in

teaching ?

(A) Line diagram, Instruments
Black-board, Slides

(B) Radio, Television, Newspaper,
Concrete objects

(C) Television, Radio, Models,
Line- diagram '.

(D) Line diagram, Chaﬁ. Black-
board, Tape Recorder

Which is not the aim of learning en-

vironmental studies ?

(A) Excessive mis-use of environ-
‘ment

(B) Awareness of environment
(C)

(D)

Adaptation to environment

To gain knowledge of environ-
ment




